	
	Math 2 







     Name: _____________________

Mod 2 D15




                                         Date: ___________ Period: ____

Show all your work and reasoning.  

	
	1.  Write the quadratic in vertex form, find the given information and graph.

	
	a)  
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	                                                                           x-int: ______________

                                                                           y-int: ______________

                                                                          Range: _____________

                                                                         Domain: ____________

                                                                         Vertex: _____________



	
	2.  Sketch the following functions.  

	
	a)  
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	b)  
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	c)  
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	3.  Determine the equation of the parabola with a vertex at (–2, 3) and passing through the point (0, 8).



	
	4.  Determine the equation.

	
	




	y = _______________
	
	y = _______________

	
	5. Consider the graph of the equation 
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.  Make one change in the equation of 
[image: image6.wmf]()

fx

 so that the graph of 
[image: image7.wmf]()

fx

:

	
	a)  opens downward.
	__________________
	d)  is narrower.
	___________________

	
	b)  has no x-intercepts.
	__________________
	e)  is moved to the right.
	___________________

	
	6. Solve for x.

	
	a) 
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	b) 
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	c) 
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	a)  
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	b)  
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	c)  
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(by completing the square)



	
	7. Factor completely.

	
	a) 
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	b) 
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	c) 
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	d) 
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	e) 
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	f) 
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	8.  Rewrite in vertex form by:

	
	a) completing the square
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	b)  averaging the roots
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	c)  using the formula
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